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Unit 7C Day 29: The “Why” of Factoring and Factoring Binomials
Focus Question: What is factoring and why is it useful? Can I factor a binomial?

§  A. One case for factoring: O'q,(x'u *’K

1. To solve a quadratic in vertex form we had to ﬂmg mtinP-

Y To solve a quadratic in standard form we could...

2]
e dothe %Mﬁl& formula YK ® =

OR

e Use the process of M the _Wr
3. To solve a quadratic in intercept form we had to 4&:’ = 0

4. Which of the ways above was easiest to you?

intercept form?

5. Most people prefer %ijg from intercept form and believe it is easiest. What was the other name for

™ ractored form
6. What does it mean to be a factor? '- _‘s qu + 0P a MW‘*'.P ,'h.‘,,- . l .

s the process of turning a standard form polynomial into the polynomials that were
4, multiplied to create it. For a quadratic we will be finding the monomials or binomials that were

no is the easiest way to solve a

I

g multiplied to make our trinomial. Most people believe factori
quadratic. BUT...

7. Do ALL quadratics have real rational x intercepts? ”o
=]
8. So will the process we are going to learn work for EVERY quadratic? No l
n

9. What helps us determine if a quadratic has real rational x — intercepts?

diserimmant b%dac D0 ¢

10. If a quadratic won’t factor, what will you have to remember to solve it? R r&g E
B

%uml. rma or coup.'nuss. 4

B. The Second Case for Factoring . .
The reason you learned to write numbers as factors was so you could reduce fractions. . i — p

Remember that fractions are division problems. | _
So when you are in algebra II and required to divide polynomials, you will be using the process of

2 =
w BN (A1) (x+4) — x4+ 4.

finds
ing the factors. E S 1)

¥ C. Factoring Binomials (two terms...starting easy with the opposite of distributing,.)
* 1. Distribute showing all work 3(x + 7) )

%) +
“ Ax+l




In factoring, you are “undoing”™ the distribution of a factor that has occurred.

o | —

r[)’isu-ibuting | What’s happening | Factoring “}hat’; happening
- B - : 1 # }
The two factors being | | The common factor of 3x and 21 is 3
(x+7) 11'1111[1?11‘@(1 arc 373“'3] the 3x + 21 When 3x is divided by 3, x is left
expression X + /. When 21 i1s divi
3(x) + 3(7) P 3(x) + 3(7) en 21 is divided by 3, 7 is left
3y + 21 We knovff that we distribute 3(x+7) So when the factor 3 is pulled to the front,
(or multiply) the 3 to each the x + 7 remains as the other factor.
term in the second factor e

y TFactor each degree 1 expression below (you did this in 6! grade!)

2
c. 2m+ — d. -4x —40 e. -3x+20

W?ﬂ}} 5("“5’5(‘\ Z(MBi 7'("3') Y(x) -4(0) - |(3¥) -\(-2

3(x43) SUyY)  2(mas) —9(x+10) ~1(3x~20)

3. A quadratic with a y intercept of (0,0) will look like f(x) = ax’+ bx. This will always factor because x IS
a factor of both terms.

4. In an intercept form quadratic, f(x)=a(x-p) (x-g), which value tells you how it opens? _ a__

So even though we say “greatest” common factor, if a (or the leading coefficient) is negative, we want

to factor out the negative.

5 Turn each function below into intercept form

d.j(xX) = l-.ch +10x

c. h(x) = 4x° — 20x -

6. Rather than use the quadratic formula, solve each quadratic by factoring

2. f(x)=2x" -10x b. g(x)=—x> +12x c. h(x) =¥ +6x j
bru!)}lx(.s) O =-|m) -‘X("Z) o= z’(‘) 4l
0= Zx (K.S) ~ "K(’("l?,) 0= .\.x (x+;;§,2)

= @ il - XS ¥ X=0] or X112:0
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